1.

3.8+ 0.6 Atsto] 7|42 HEhlo2t,

> E:
> 3

o




x=027,y=0382 m, X o] gre
y

11 11 33
O P35 9Ox

11
T

®

95
76

. 27T-2 5
.. 38
y=038=5
5
18 _ 495 55
y 38 684 76
99




@D 0.09 =0.1
. 61
@ 0.123 = 195

ok

42 (o = A0
@22x3><5><7‘_—'_ Aol
@ 11.356356356 - -- = 11.356

® 0.629 o] <=ghmtr]= 29 o]},

42 1
® 2%x3x5X7 2x5

242 e o]




olJ

op

0.0 206 006 @Dae 666

Feasol AL £8ta47t Bet

442 theoli,




ohe Ale MEshe 19 7he Tatolet,

2436 + 27* = 33

B

2436 + 27% = 33
(35)6 - 33x — 33
330—3)6 — 33

Lx=9




6. 2F242v =160 ¥ o, x o] FtS F5toizet.
et

>
[> o= 5

ok =

2¥+2 4 9% — 5% 2¥ = 160
2¥ =32 =2°
T x=5




A

1

T

71l ']

]

=5
i

[e]

A7 S, o]
wl, B ol Anhit obA

= o}

)

Tl

el

B r(4a)? - holTh,
(4132) 231) = Zn(2a)" ]

it

A

=




s

S}
=

a}

a_d
bc

(@, b) * (¢, d) =

8.

25 25
5 @-

DO -

o}l

(9] 6y
Avm_ynéx w0_7
| N S_y
I I
/N —
2y ©
o 2ﬂ3w2y
N
E Rl
| N——
N— X X
X | =
3y 4y_52x -~
S | RS
I I
SN—
I |
—
I
K
N—




